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FR3x20
IEGI| B B | 598 | STEE| 4RI & F 4 e K1 K2 P1 P2 S1 S2 |& & XB#|BE
1 1 2 120 | M KiE B3} FiE 99 93 100 97 96 95 580 21 1
2 2 1 (22| M xiE B3} FiE 94 95 98 98 94 97 576 28 2
3 2 1 5| M ME RE AEE 94 97 97 98 92 93 571 19 2
4 1 2 7| M BT =48 HHARER 98 95 97 95 91 94 570 22 1
5 2 1 4 | M wE - RigE 92 91 98 96 91 96 564 16 2
6 2 1 2 | M =2 K AEE 97 97 97 98 85 89 563 21 1
7 1 1 3| M mE - RigE 92 96 96 97 92 90 563 15 1
8 2 3 4 1 M =2 K AEE 87 92 98 95 94 93 559 21 2
9 2 1120 | M | hAR BEKR FoE 91 85 94 93 94 95 552 14 2
10| 2 2 5 (M FH Fic FiE 89 92 91 96 85 92 545 13 1
111 1 1 4 1 M ME fRE AEE 89 90 97 93 87 87 543 9 1
12| 1 2 19| M| MAR HEX FoE 85 89 95 90 94 86 539 10 1
131 1 2 3| M HE B2 AEE 97 87 92 94 85 83 538 13 1
141 2 1 M =k BER FoE 87 89 95 93 82 79 525 10 1
R3x20
IBGL| BB | 598 | HEE| MR & F £ g K1 K2 P1 P2 S1 S2 | & B XEH|HE
1 2 1 6 | W TE WiE xR 94 98 99 98 96 96 581 22 2
2 2 1 7| W BIFEH BB BER 95 98 96 98 93 98 578 26 1
3 2 1 (23| W —/E ® | T/ H%AEH| 95 94 99 96 96 96 576 20 2
4 1 2 | 22| W | =5 BEE FiE 95 97 98 98 95 93 576 19 1
5 1 2 6 | W LWE EF TR 96 95 99 96 95 93 574 25 1
6 1 1 6 | W hE ER xR 96 95 99 96 92 93 571 18 1
7 1 2 4 | W mE EE BER 95 95 97 98 91 93 569 18 2
8 1 1 2 | W —/E ® | T/ H%AEH| 95 94 96 94 95 95 569 17 1
9 1 1 5| W TE WiE xR 95 95 95 96 92 95 568 20 1
102 | 1] 8| W[ dfill #% FoE 95 95 96 94 93 95 | 568 | 17 |1
111 2 2 7| W LWHE EF IR 92 93 96 99 93 91 564 15 2
12| 2 1] 19| W | =t ZEE ol 92 95 97 97 93 87 561 12 2
1311 1 7| W il EE FE 91 95 97 95 90 91 559 13 1
14 | 2 3 5| W BIFEH BB BER 93 91 92 91 90 91 548 4 2
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IEGI| B B | 58| S| 4RI & F & g 1 2 3 4 5 6 |& & XBEH|HE
1 2 1 (11| M NIESE=TN IR 102.5 |101.7 |104.2 |101.2 | 99.9 [102.1 {6116 | 29 2
2 1 1 (12| M NIESE=TN TR 101.6 |100.9 |100.8 |100.5 |102.4 [101.5 [607.7 | 28 1
3 1 2 16| M A X HER 100.0 |101.1 |102.2 |100.2 |101.0 [102.1 [606.6 | 26 1
4 2 2 9 | M =z T [EESNTS 97.8 |101.0 | 99.0 |100.2 |102.7 |100.4 |601.1 | 18 1
5 1 1]113| M KA HEF TR 100.3 | 99.7 | 97.2 |100.7 |101.1 [100.6 {599.6 | 22 1
6 2 3 9 | M = T HR)IR 97.8 | 98.6 |100.4 |100.4 |101.5 |100.0 |598.7 | 20 2
7 1 3115 | M A B HER 94.8 | 97.5 |100.7 |100.1 |102.8 |102.4 |598.3 | 22 2
8 2 2 13| M RAR X RN 98.4 | 985 |102.9 | 99.0 | 99.8 | 98.9 |5975 | 21 2
9 1 2 15| M RAR X RN 96.8 | 98.9 |100.6 |101.7 |100.7 | 98.7 |597.4 | 20 1
1011 3 [13| M KA HEF IR 100.2 | 97.1 | 99.8 |100.2 | 98.0 [102.1 {597.4 | 17 2
111 1 1 9 | M il % TR 98.5 | 984 |99.6 | 98.0 |101.5 | 95.9 |591.9 | 20 1
121 2 | 14| M B BE IR 98.7 | 98.1 |99.2 | 99.3 | 98.3 | 97.0 |590.6 9 1
13| 2 2 112 | M MR E HR)IR 99.0 | 97.7 | 99.4 | 98.1 | 95,5 | 99.8 |589.5 | 15 1
141 2 3|11 | M B BE IR 92.7 | 984 | 981 |99.6 | 98.9 | 97.2 |584.9 | 12 2
15| 2 3 110| M = BER e 95.6 |100.3 | 93.7 | 97.6 | 97.2 | 99.1 |5835 | 12 1
16| 1 1 (10| M N & TR 96.4 | 97.7 | 97.0 | 98.9 | 98.2 | 93.4 |581.6 | 14 1
171 2 1 (10| M N TR 99.3 | 99.0 | 94.7 | 96.0 | 93.3 | 98.2 |580.5 | 14 2
181 1 1 (11| M N TR 93.1 | 935 | 98.6 | 99.5 | 94.0 | 95.0 |573.7 | 10 1
19| 2 2 |14 W IR PRF FEEE 88.7 | 94.4 | 93.4 | 95.0 |100.2 | 93.8 |565.5 1
20| 1 3116 | M N TR 95.6 | 93.0 | 93.7 | 95.3 | 94.4 | 86.3 |558.3 1




